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Question 1

Monozygotic is to dizygotic as

a. one mother is to two mothers.

b. one egg is to two eggs.

c. dominant is to recessive.

d. heterozygous is to homozygous.[br][br][b][color=red][fa]check[/fa] Question 2[/color][/b][br][br]Who is most likely to abuse his child?

a. Louis, who relies on the time-out technique to punish his children

b. Derek, who was never abused when he was a child

c. Joe, who is socially isolated from friends and relatives

d. Scott, who is wealthy[br][br][b][color=red][fa]check[/fa] Question 3[/color][/b][br][br]Research on stress and employment status has shown that

a. individuals who believe that they will lose their jobs show similar stress levels to those who have actually lost their jobs.

b. the mere threat of unemployment has little impact on mental health.

c. due to job demands, employed workers show more stress than unemployed workers.

d. using emotional avoidance is an effective strategy for reducing stress related to the possibility of unemployment.[br][br][b][color=red][fa]check][/fa]
Question 4[/color][/b][br][br]As dizygotic twins, Jewel and Bjork

a. are genetically identical.

b. must have come from the same fertilized egg.

c. share all phenotypes.

d. share about half of their genes.[br][br][b][color=red][fa]check]/fa] Question 5[/color][/b][br][br]Who is most likely to spank her child?

a. Rose, who is a Swedish parent
b. Tulip, who is an American parent
c. Lilly, who is a Japanese parent
d. Blossom, who is a Chinese parent[br][br][b][color=red][fa]check[/fa] Question 6[/color][/b][br][br]Oscar is very worried about losing his job. Felicia
feels comfortable that her job is completely secure. Based on research on job insecurity, it is likely that Oscar is

a. less wealthy than Felicia.

b. more vocationally mature than Felicia.

c. less physically well than Felicia.

d. less intelligent than Felicia.[br][br][b][color=red][fa]check[/fa] Question 7[/color][/b][br][br]dJohn and Wayne have the exact same genes. This
indicates that they must be

a. dizygotic twins.
b. monozygotic twins.
c. heterozygous.
d. co-dominant.
Answer: https://biology-forums.com/index.php?topic=1771970

Question 2

Write a short note on the Superfund outlining its significance.
Answer: https://biology-forums.com/index.php?topic=1902792

Question 3

https://www.indiacom.com/yellow-pages/post-office/mumbai/
https://www.sulekha.com/post-offices/navi-mumbai-mumbai

Are there Post offices in all Western, Central, Harbour & Navi Mumbai railway stations?
Thanks & Regards,

Prashant S Akerkar

Answer: https://biology-forums.com/index.php?topic=1935410
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